OB E AR R

FAAEH B k25 10H1H

LI Hh A RE ] ISES JE\ 7] KR Y53 DO NH,~N NO,~N NO,—N COD  KIGHREEK KeE
(m) Al (C) (mg/L) (%) (pg/L)  (ueg/L) (peg/L)  (ug/L)  (mg/L) MPN/100ml
St.1 (R 0 - - - - - - - -
3= 5 - - - - - -
10 - - - -
B-1 — - - — - - — — -
St.?2 8:40 0 W 8.3 21.4  33. 7.1 93.7 3.5 .3 4.3 1.0 0.0 7=V IT
T 5 1 8.3 21.3  33. 7.3 96. 8 0.6 .2 0.8 2.9 0.0 <1.8
10 8.3 21.2  33. 7.0 92. 4 5.1 ) 5.7 7.6 0.0
B-1 8.2 20.6  33. 6.6 86. 4 7.3 .8 4.3 10. 3 0.0
St.3 9:00 0 W 8.3 21.6  32. 7.4 98.0 3.0 .0 1.0 0.0 0.2 7=V V6
¥ 2.5 1 8.3 21.6  33. 7.4 98. 1 0.3 .2 0.2 0.3 -
5 8.3 21.6  33. 7.4 98. 1 0.0 .9 0.2 0.3 0.2 <1.8
10 8.3 21.2  33. 7.1 93.3 0.6 .6 2.5 4.8 0.0
B-1 8.3 20.5  33. 6.9 90. 2 6.5 .8 4.3 11.5 0.2
St.4 (R H0) 0 - - - - - - - -
TEAR 2.5 - - - - - - -
5 — — — — — — —
10 - - - - - -
B-1 — - - - — -
St.5 10:17 0 SW = 8.3 21.9  32. 7.6 101.1 5.9 3.6 1.2 12.0 0.5 7=V 9
KR 2.5 1 10 8.3 21.9  33. 7.4 98. 4 2.2 3.7 0.7 0.1 -
5 8.3 21.7  33. 7.3 97. 1 1.9 4.0 1.1 2.0 0.3 3.6
B-1 8.3 21.7  33. 6.8 89. 7 5.9 12.0 4, 4 6. 2 0.2
St.6 9:36 0 - = 8.2 21.4  30. 6.1 79.5 6.8 20. 6 3.3 34. 4 0.5 7=V I8
A H AR AT 1 - 10 8.2 21.6  32. 6. 4 83. 8 5.6 6. 4 2.2 11.4 0.5
5 8.3 21.8  33. 6.8 89. 7 2.3 3.3 0.8 0.9 0.5 <1.8
B-1 8. 2 21.6  33. 4.7 62. 2 24. 7 0.0 18. 2 16.4 0.6
St.7 10:07 0 - = 8.3 21.9  32. 7.1 93.8 35. 8 78.0 8.1 81.4 0.6 7410
fa s 1 - 10 8.3 21.9  32. 7.0 92.9 9.4 1.1 1.2 10.4 0.5
5 8.3 21.9  33. 6. 4 85. 8 7.7 12.2 3.0 8.6 0.5 43.0
B-1 8. 2 21.9  33. 5.2 68. 9 16.5 45.5 8.6 15. 6 0.3
St.38 9:12 0 SW = 8.3 21.7  32. 7.4 98. 2 1.3 2.9 1.1 2.8 0.2 T 7
RREY I SN/ 2.5 1 8.3 21.7  32. 7.3 97. 1 0.6 3.5 0.7 2.9 -
5 8.3 21.6  33. 7.4 98. 1 0.1 2.9 0.6 2.1 0.3 <1.8
10 8.3 21.1  33. 7.0 92. 1 0.8 3.3 2.5 3.0 0.3
B-1 8.3 20.7  33. 7.0 91. 6 5.6 22.6 4.5 8.8 0.2
St.9 9:24 0 SW 8.3 21.5  32. 7.3 96. 7 0.9 2.1 1.5 2.1 0.2 TV 7
FAX Y7 2.5 1 8.3 21.8  33. 7.5 99. 4 0.0 1.9 0.1 0.0 -
5 8.3 21.6  33. 7.0 93.0 0.8 5.7 1.7 1.5 0.3 <1.8
10 8.3 21.2  33. 6.9 90. 3 2.7 10. 4 6.2 5.3 0.3
B-1 8.3 21.0  33. 5.9 77. 4 17. 2 47.9 7.4 13.2 0.3
7 (A) 9:45 0 W 8.3 21.9  32. 6.9 92.0 5.9 6.6 0.0 0.9 0.6 7410
B-1 1 8. 2 21.8  33. 6. 2 82. 4 6.9 16. 8 4.6 4.1 0.6 15. 0
P N() 9:58 0 - 8.3 21.6  31. 6.8 88.9 5.3 14. 1 2.7 44.9 0.2 7=V 9
5 - 8.3 21.8  33. 7.2 96. 3 1.2 20. 6 1.2 1.4 0.2 <1.8
B-1 8. 2 21.2  33. 4.9 63. 9 29. 2 0.0 14. 6 19. 0 0.3




